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1) 2) 3) Convert the following fraction into a
mixed number: 6/,
Answer: Answer: Answer:
4) 13/gx 33, 5)  Find the percentage changefrom4to5 || 6) 21/, x 25
Answer: Answer: Answer:
7) 0+7 8) 33, + 425 9) 90 + 10
Answer: Answer: Answer:
10) I - 8/3 11) 8.8x6.5 12)  Findthemodeof thefollowing set of data
4,4,4,10,10,3,3,3,3 3
Answer: Answer: Answer:
13) 1584+66 14) Ygx 87 15) 2+2+18+6
Answer: Answer: Answer:
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16) A number was shared in theratio 17) Find area of square 18) Share 16 in theratio 1.7
10:1. The smaller share was 15. having each side (s)
What was the larger amount? s equals4in
S
Answer: Answer: Answer:
19) (-10)+2 20) / 21) 3/10 +4,
‘Name the type of angle.
Answer: Answer: Answer:
22) Find perimeter of 23) A number was shared in the ratio 24 _
. . triangles=5in 1:3. The smaller share was 5. What Find the next three numbersin
was the larger amount? the sequence
s 0112358 , ,
Answer: Answer: Answer:
25)  Simplify 7:10 26) \ 27) \
A=73 B A=73 B
Find the Angle at side B. Find the Angle at side B.
Answer: Answer: Answer:
28) Find the mean of the following set of data: 29) 7/5 _ 3/3 30) A number was shared in the ratio
6,591 3:4. The smaller share was 12. What
was the larger amount?
Answer: Answer: Answer:
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31) L/g of 152 32) 32/3+ 15 33) 58x8.3
Answer: Answer: Answer:
34) 50+ 10 35) Round 8.1732 to 3 decimal places. 36) 3x 100
Answer: Answer: Answer:
37) Find peri meter of 38) 21% of 17 39) Find the median of the following set of data:
sguare having each 20,17, 33,12, 20
s side (s) equals2m
s
Answer: Answer: Answer:
40) Find the mean of the following set of data: 41) 42) Find area of square
6,7,4,4 having each side ()
s equals3in
A =23 B
Find the Angle at side B. s
Answer: Answer: Answer:
43) 60+ 10 44)  Find the percentage change from 1 to 45) 32/8 X 24/8
8
Answer: Answer: Answer:
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46) 85+ 3110 47) Find area of 48) Convert the following mixed number
b rectangle having 53/1 to an improper fraction.
sidesa=9ft
a andb=1ft

Answer: Answer: Answer:

49) Convert the following mixed number 50) 3+(-8) 51) 08:47 am To 11:14 am

53/, to an improper fraction.

Answer: Answer: Answer:

52) 4/10 + 6/6 53) Anamount was decreased by 6% to 54)  Anamount was decreased by 6% to

$369.00. Find the original amount. $369.00. Find the origina amount.

Answer: Answer: Answer:

55) A number was shared in the ratio 56) 169 x 11/, 57)

4:2. The smaller share was 20. What
was the larger amount?
A B =55
Find the Angle at side A.
Answer: Answer: Answer:
58) 6x 10 59) Find the range of the following set of data: 60) Find the median of the following set of data:
6,9, 10,6,8,8,6 15, 38, 2,29, 35
Answer: Answer: Answer:

Copyright 2018 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

August 07, 2018

MATHS WORKSHEET

S
GENERATOR I%f

: 07082018-567

11-PLUS
SATS {ﬁf)
GCSES \Z

61) Find perimeter of 62) b 63) Find the median of the following set of data:
triangle 3,22, 39
b ¢ a=9cm,b=10cm,
c=11lcm a o] (o]
a Measure angle boa
Answer: Answer: Answer:
64) Find area of triangle 65) Share 6 intheratio 1.5 66) 4/8 X 3/6
a p h=8in,a=10in,
b=11in,c=12in
c
Answer: Answer: Answer:

67) 68) 1 16 Of 96 69) Find the percentage change from 7 to
Find the next three numbersin 14
the sequence
0112358 , ,
Answer: Answer: Answer:
70) Find the mode of the following set of data: 71) 09:05am To 12:18 pm 72) 3/9 X 2/7
55753,3,3,39196,6,6
Answer: Answer: Answer:
73) 19-82 74) Find perimeter of 75) Anamount was increased by 9% to
sguare having each $229.00. Find the original amount.
s side (s) equals 8 ft
s
Answer: Answer: Answer:
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76) blg=7), 77) 10- 6 78) 0+7
Answer: Answer: Answer:
79) 54-32 80) Anamount wasincreased by 1% to 81) Round 18.196509 to the nearest 100
$421.00. Find the original amount.
Answer: Answer: Answer:
82)  564+94 83) S0 Ys 84) 51-74
Answer: Answer: Answer:
85) Find perimeter of 86) 8/g- %110 87) 54x1.9
sguare having each
side (s) equals 3 ft
s
Answer: Answer: Answer:
88) 54x 1.9 89) 3 651 1 90)  Share12intheratio 3:1
Answer: Answer: Answer:
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91) Share 20 in theratio 1:4

92)  Round 14.6433 to 3 decimal places.
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93) \ b
a (o] C

Measure angle boc

Answer: Answer: Answer:
94) Find areaof triangle || 95) Find area of square 96)  Findtherangeof thefollowing set of data
a=6cm,b=9cm having each side (s) 8, 6,10
b ¢ s equals 6 cm
L
a s
Answer: Answer: Answer:
97) 2x7 98) A number was shared in theratio 99) 32+4
9:19. The smaller share was 18.
What was the larger amount?
Answer: Answer: Answer:

100) Find the mean of the following set of data:
56,8

Answer:

Total: /100
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8) ®lsg
15) 4

22) 15in
29) %5

36) 300
43)6

50) -5

57) 125
64) 44in
71) 03 Hours 13 Mins
78) 7

85) 12ft
92) 14.643
99) 8

2

99

16) 150
23) 15
30) 16
37) 8m
44) 700%
51) 02 Hours 27 Mins
58) 60
65)1:5
72) %o
79) 2.2
86) 1345
93) 119
100) 6.33
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10) 4Y/5

17) 16in

24) 13,21,34,
31) 19

38) 3.57

45) 8l/g

52) 12/

59) 4

66) 1/,
73)-6.3

80) $416.83
87) 10.26
94) 27cm

Answers:

4) 5°/g
11)57.2
18)2: 14
25)7:10
32)2

39) 33

46) 4%
53) $346.86
60) 2

67) 13,21,34,
74) 32ft

81) 18.2
88) 10.26
95) 36cm

5) 25%
12)3

19) -8

26) 107

33) 48.14
40) 5.25
47) oft

54) $346.86
61) 30cm
68) 6

75) $210.09
82)6

89) 2%/14
9) 4

: 07082018-567

6) 7

13) 2.4
20) Obtuse
27) 107
34)5

41) 157
48) %319
55) 40
62) 143
69) 100%
76) 2/7
83) %10
90)3:9
97) 14
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= L]

=

77
14) Y7
21) 13/19
28) 5.25
35)8.173
42) 9in
49) 53/,
56) 25/g
63) 22
70) 3
774
84)-2.3
91) 4: 16
98) 38
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